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Faculty of Science

Botany and Microbiology Department

Exam. Date: 15/6/2015

Time Allowed: 2 hours
Cilaben gl b laled)

Second Term Exam. 2014/2015
Systematic Mycology 1, (262 B)

Second Level (Credit hours)

__Part One (26 Marks) I

FIRSTLY: ANSWER THE FOLLOWING QUESTIONS: (12 Marks)
A- CHOOSE THE CORRECT ANSWER AND PUT IT IN ATABLE: (0.5Mark each)

|- Oomycetes are classified on the basis of:

a- Nature and mode of zoospore formation. b- Oospores.
c- Sporangiophores. d- Oogonia.

2- The zoospores in Order Lagenidiales are usually .....ocoonecnmeemmnanees shaped.
a- Kidney b- Pear c- Lemon d- Irregular

3- Qospheres which fail to be fertilized function as:
a- Parthenospores b- Aplanospores
b- Tertiary spores d- Oidiospores
4- The species of Saprolegnia are identified on the basis of the characters of:
a- Mycelia b- Qospores c- Oospheres d-Zoosporangia
5- The oogonium and its attending antheridial branch originating on the same
hypha is called:
a- Monoclinous b- Diclinous c- Androgynous  d- Hypogynous
6- Genera of saprolegnaceous fungi are identified on the basis of differences in:
a- The behaviour of zoospores b- Zoospores discharge
c- Oospores d- Both (a & b)
B- GIVE THE SCIENTIFIC FXPRESSION IN A TABLE FOR EACH: (0.5 Mark each)

|- The short hyphae which penetrate the substratum and absorb nutrition in aquatic fungl.
7- The order in which their hyphae are constricted at regular intervals.

3- It is carbohydrate in nature plugging the constricted portions in some fungi.
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THIRDLY: ANSWER TUE FOLLOWING QUESTION: (@Ml each)
NAME, DEFINE AND DPRAW wiThH LABELLED DIAGRAM RACH OF THE F()LL())L’!NGS:

A- Any two type of ascomata

B- Any two type of conidiomata.
(discharge of zoospores) in Achlya and Dictyuchus.

C- Zoospore behaviour

«Good Luck =




Part Two (24 Marks)

Question one:

Answer three only of the followings:- (4 Marks each)

a- Describe with drawing the thallus structure, the method of spore dispersal and the life
cycle of the hat thrower fungus.

b- Mention with explanation and drawing the numbers, kinds and positions of the
flagella in the Classes/ Plasmodiophoromycetes and Hyphochytridiomycetes.

c- Give with drawing the symptoms of black warts disease on potato tuber. And show
with drawing the development of the diffent stages during asexual reproduction of

the causal pathogen in potato tubers.

d- Choose the correct answer of the followings and put it in a table:-

1-Sporangiola in TRAMAIATUIT ATCerererrnrerersrnssssssnssssesssnmmmmmmmnnrn e s nnnnes
a-Thin walled b-Acolumellate c-Multispored d-Columellate

2-Zoospores in Pythium are fashioned Within....coociereervimnmarermsnnereseennes
a-Zoosporangium b-Discharge tube c-Vesicle d-Oospore

3-Suspensor appendages are dark black in colour and dichotomously branched

a-Phycomyces b-Zygorhynchus c-Absidia d-Mortierella
4-Sporangiophores occurring at the curvature of Stolom IN.cevirieaesnnnenneeaneonees
a-Mucor b-Zygorhynchus c-Absidia d-Rhizopus

Question two:

Answer three only of the followings:- (4 Marks each)

a- Discuss with drawing the different trends of sporangia evolution in the Order/
Mucorales.

b- Identify with drawing the following scientific terms:-
Operculate chytrids — The appressorium — [nterbiotic chytrid — Aplerotic 0ospore

c- Explain with drawing the life cycle of Plasmopara viticola on grape plants.
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d- Follow up with illustration only the phase of infection by Plasmodiophora brassicae

which occurrs in the root hairs of cabbage plants.

ALy cags)

Good Luck - ®rof. Or. Esam Hosney AL
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Assiut University

Final Exam. For the 2" level students
(Special Microbiology and Chem.& Microbiol.), June 2015.

Subject: Systematic Mycology 1 (262 B) Maximum Allowed Time: 150 Min.

Answer the Following Questions, and Illustrate your Answers Whenever Possible.

1- Define Briefly Eight Only of the following and Give the name of the organisms or
Fungal groups which are related to each:- (12 Marks)

Holocarpic fungi — Merosporangia - Erotropins hormones — Polycentric thallus — Zoosporangial

proliferation — Polyplantism — Androgynous antheridium -— Dimorphism — Mycorrhizae -

Plasmodium.

2- Give only one difference between (Answer Only Six points; Design a table for vour

answers) (12 Marks)
a- A vegetative cell and spore cell. b-Gonapodiaceae and Monoblepharidaceae.
c- Plasmodiophora and Tetramyxa. d- Pythium and Phytophthora.
e- Albuginaceae and Peronosporaceae . f- Mucorales and Entomphthorales.

g- Zygorrhynchus and Phycomyces.
3- Write the scientific term or the name of organisms which are related to each of the
following:- (2 Marks)
a- Fungi which produce distinctive multiflagellate zoospores and essential for
cellulose breakdown in feed.
b- Diffusible substance playing a specific role in the sexual reproduction of the
organism that produce it.
c- The fungal thallus attaching several hosts.
d- The fungal reproductive units which are produced by transformation of pre-existing
thallus cells.

4- Discuss Briefly Three Only of the following:- (12 marks)

a- The inclusion of Class Oomycetes in Kingdom Stramenopila by some scientists.

b- Alternation of generation of Allomyces.

c- Zoospores flagellation as taxonomic criteria of Mastigomycotina.

d- Evolution of sporangia in Mucoraceae, and support your answer by some examples.

5- Using a Labeled Diagram and a Brief Comment, show Four Only of the following:-
(12 Marks)

a- Zoospores discharge as the taxonomic criteria for Chytridiales.

b- The antheridial branch origin in Saprolegniaceous fungi.

c- The life cycle of an organism which is responsible for club root disease.
d- Differentiation between four genera of Saprolegniaceae.

e- Distinction between three of the downy mildews fung.

Good Luck Prof. Abdel-Raouf M. Khallil
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Department

Virology(281B) Second semester exam - the academic year 2014/2015
second Division - Faculty of Science
Exam date: Tuesday, 09/06/2015

Time: two hours

Degree exam: 50marks

The first question: Write short notes onfive only of the following:(25marks)

Effect of freezing, thawing and desiccation on virus particles
Importance of plant virology

Viroids

Effect of virus on the morphology of plant

The composition and structure of the particles of plant virus

Transmission of virus by nematodes

The second question:
(a) Interaction between the dependent virus and the helper virus takes place in the

plant or in aphids. Discus(Smarks)

(b)Define each of the following:(10 marks)
1. Acquisition feeding period and Inoculation feeding period

2. Necrosis
3. Circulative and non-circulativetansmissino of virus

The third question:
a) Discus two only of the virus groups(6marks)
b) Why Beijerinckis considered the real Father of Virology(4marks)

Good luck
Dr/ AmalDanial
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Final Exam (second term)
2014/2015 ¢
Botany & Microbiology Molecular biology (212B) Faculty of Science
Department (Credit hours) Time: 2 hours

Please answer the following: [Total 50 marks]

Q1: Choose the correct answer: (10 marks)

1- The process of cuts introns from the primary transcript and the
final "processed' mRNA is produced.

A-RNA cleaving B-RNA translocation ~ C-RNA elongation ~ D-RNA splicing

2- After DNA replication is completed,=----mmmmemeee

A-each new DNA double helix consists of one old and one new DNA strand

B-each new DNA double helix consists of two new strands

C-one DNA double helix consists of two old strands and one DNA double helix consists of
two new strands

D-each of the four DNA strands consists of some old strand parts and some new strand parts

3-Ribosomes composed of .........................
A- two subunits, each consisting of rRNA and protein B- mRNA, tRNA, rRNA and protein
C-two subunits, each consisting of TRNA only D-mRNA, rRNA and protein

4-Sugar that occurs in DNA but not in RNA
A-  ribose B- deoxyribose C- uracil D- thymine

5-An enzyme that "cuts" DNA at a specific sequence of bases is called ==--vev--
A-reverse transcriptase  B- restriction enzyme C-RNA  D- DNA-ligase

6- DNA which is wrapped around 4 pairs of proteins is termed-----m-cevemmr.
A- histones B-leucine C- threonine D- methionine

7-How does transcription begin?

A-when RNA polymerase binds to a sigma to create a holoenzyme and the sigma guides the
RNA polymerase to certain locations where transcription should begin

B-the RNA polymerase binds to a coding strand located downstream

C-the non-template strand signals to the binding receptor that a phosphodiester bond is
present and ready for action

8-In recombinant methods, the term "vector" refers t0 ~m—-eeeoeme .
A-the enzyme that cuts DNA into restriction fragments

B-the "sticky" ends of a DNA fragment C- restriction fragment

D-a plasmid or other agent used to transfer DNA into a living cell

9-Which type of gene expression control is related to the rate at which pre-mRNA is
converted to mature mRNA?
A-  transcription  B- post-transcription  C- translation D- post-translation

10- The enzyme reverse transcriptase used to produce ............. ...
A-cDNA B- RNA C- DNA D- PCR

1{2/3/4]576[7][8]9]10]
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Q2: Fill the blanks in the following statements: (15 marks)
1- DNA back-bone consists ‘of PP PN - |« SR

2- Initiation of DNA'synthesis on the lagging strand requires short. -

made by enzyme called: . ...

5- RNA syntheSIS begms ata...... b o § H s in the DNA and ends at a

6- The ma 'tRNA molecule is designed to base pair with a
complementary sequence of three nucleotides. ,

7- The sequence of restriction eénzymes are called ..., ... . . sequence.

8- Taq DNA polymerase was used in PCR reaction because it does not

9- The gene vectorsare ... ... . PR C S e e o s and .................

10- The technique that utilizes probes to detect specific
DNA fragment.

11-PCR reaction requires .......... . Y e fosens gy miline 108G i ihd S DIEIG and

12-Gene cloning reqgirements are ... oo ¥ 0 B4 « 0 i sl i o STHR N,
AN i

13-Southern blotting requires ................_. T T S P A and

.......................

Q3: What is meant by the following abbreviations: (5 marks)
1-mRNA 2-dNTPs 3-RFLP 4-RT-PCR 5-UTR
Q4: Give the definitions for the following: (5 marks)
A-Nucleoside B-Nucleosome C-Transcription D-Hybridization

E- Restriction fragment

QS: Explain TWO only of the following: (8 marks)
1.Gene cloning 2.Detection of right clone

3.Differences between Plasmid vector and phage vector

Q7: Write on with drawing one'only of the following: (7 marks)

1- DNA replication in prokaryotes
2- Protein biosynthesis

Best Wishes Dr. Naeima Yousef & Dr. Ramadan Othman
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Plant Ecology Second Semester Final Examination: 2014-2015
Course No. 241 B Second Level: Botany and Microbiology

50 marks Time allowed: Two Hours

Answer the following questions:

1- Discuss briefly THREE ONLY of the following:

(16.5 marks)

a- The effect of the various bands of the sqlar spectrum on plants.

b- Transportation by wind.
¢- The role of emergent aquatic macrophytes in improvement of

soil aeration.

(5.5 marks)
(5.5 marks) -

(5.5 marks)

d- The differences in appearance and structure between plants

kept in the light and those kept in the dark.

(5.5 marks)

2- Compare between each two of the following (answer THREE

ONLY):

(21 marks)

a- The ecological importance of soil texture and soil temperature.

b- Parasitism and symbiosis.
c- The chemical and physical weathering processes which lead to
the soil formation.

d- High temperatire injury and low temperature injury.

3- Define only FIVE of The following
a- Saturation capacity.

b- Plant zero.

c- Short day plants.

d- Halophytes.
e- Pedogenesis.
f- Endophytes.

g- Temperature coefficient.

(o00d Luck

(7 marks)
(7 marks)

(7 marks)

(7 marks)
(12.5 marks)
(2.5 marks)
(2.5 marks)
(2.5 marks)
(2.5 marks)
(2.5 marks)
(2.5 marks)
(2.5 marks)

- Prof. Dr. Mohamed Abou El-Ela



Assiut University - Faculty of Science - Botany Department
Final Examination (2014 — 2015) Time allowed: 2 hours

Taxonomy of Flowering Plants (SECOND LEVEL) - (232 N)

ANSWER THE FOLLOWING QUESTIONS (50 degrees):

First question: Complete 10 ONLY of the following: ... (10 Degrees).
1.Intine of pollen grain is characterized by .................. 3 et
2.If the stamens are double the number of sepals and outer whorl is
opposite the petals, the condition knownas .................................
3.Characters of an advanced flower are .............. P U5 Yt B 50 50 e
4. Wind pollinated flowers develop certain adaptation such as ..........

258 csveserensen ceseg s

S.In cymose inflorescences the mode of growth is known as .............

and the order of flowers openingiscalled ...............................
6.The special type of inflorescences are ............, ...........0yivivieeeenn
7.Cremocarpis .......... fruit consisting of ........................ .
8.Stemens of the family Cruciferaeare .................................. while
in the family Scrophulariaceae, theyare ....................................
9.In phylogenetic systems, plants are classified into different groups on
the basis Of ...y e e
10.The florets of the family Asteraceae are .................. g e ,
...................... , whereas the inflorescenceis .............................
11.In the family Labiatae, the stemis ............ ,corollais ............ and
SEFLE IS 1 0 5 50 505 5 0 5 50 5 5 o
12. The family Apiaceae is characterized by ......................... ovary,
............... inflorescence and leaves are ...............................o.
13.Gynoecium of the family Apocynaceaeis ................. and fruits are

.................. , while gynoecium of the family Malvaceae is

Second question: Identify and draw ONLY 5 of the following

............................................................. (10 Degrees, 2 degrees each).
Anatropous — Exine — Corymb - Follicle —- Monochasial —
Epigynous flower — Descending imbricate — Siliqua —Placentation.

Qe Al A adial) e ALl i g,
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Third question: ......ccceeeeveecnanenes vecernssesasseens (30 Degrees)

I. Compare between ONLY 5 of the following:.. (15 Degrees, 3 Degrees
each).

a. Aggregate and composite fruits (give examples).
b.Sepals, petals and Androecium of Papaveraceae and Papilionaceae.
¢. Subfamilies of Rosaceae.

d. Perianth, Androecium and fruits of Convolvulaceae and

Nyctaginaceae.
e. Sepals, Gynoecium, fruits and economic plants of Solanaceae and
Asteraceae.
f. Perianth, Androecium and Gynoecium of Liliaceae and
Chenopodiaceae.
II. Write short notes on ONLY 3 of the following ...... (9 Degrees, 3

Degrees each).

a. Modification of calyx.
b. Indehiscent fruits.

c. Microgametogenesis.
d. Family Gramineae.

IIL Give the scientific name of TWO economic plants of the following
Families: Iridaceae, Caesalpiniaceae and Geraniaceae. (6 Degrees).
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